2.9. Frictional forces
Up until now: Energy conservation

Ewin + Epst = constant Exemption: Inelastic collision
Each real movement faces loss of energy,
e.g. transformation of kinetic energy into thermal energy.
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FN — Fg Normal force (force that presses bodies together)
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b) Fr ~ y Stokes or viscous friction

Body in a fluid or gas! .
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e.g.: Fall of a human beeing in a gravitational field with air resisteance

o TF“/ Equation of motion:
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The body sinks with constant
Free fall from velocity v;

500m(without air):
z(t) = =51 + 500
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Free fall 500m with air:
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Remark concerning cars
Tires take part with ca. 20% of friction.
At ca. 50km/h: Rolling friction=air resistance

at 100km/h : Air resistance reaches a value
of around 3-4 times rolling friction



